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( ENGLISH VERSION )

Answer the following questions ( Alternatives are to be noted ) : 2 » 10 = 20

(a)

(b)

(8)

State the law of demand.
OR

Define a Giffen good.
Define income elasticity of demand.
OR

What is meant by cross price elasticity of demand ?
Give two ekamples of a firm's variable cost of production.

 OR
If in the production process only constant returns to scale prevails,
what will be the shapes of long run average and long run marginal

cost curves ?
Show how a firm's marginal revenue and average revenue are

related when the market price remains unchanged.

What is meant by fiscal policy ?
OR

What is deficit budget ?
Mention two disadvantages of range as a measure of dispersion.

What is poverty line ?
OR

of Mahatma Gandhi National Rural

What is the objective
Employment Guarantee Scheme (MGNREGS) ?
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State any two functions of Insurance Regulatory and Development

Authority (1999).

State two disadvantages India suffers as a result of establishment of
World Trade Organisation.

W) What is meant by current account convertibility of Indian rupec ?
OR
What is cash reserve ratio (CRR) ?.
Answer the fqllowi-ng questions ( Alternatives are.to be noted ) : 5 x 8 = 40
(a) Analyse the relationship involving total product, | average product
and ma:gmal product in three stages of a production process.
(b)

Show how a perfectly competitive firm earns only normal profit as it
attains long run equilibrium.

OR

Show how the price in a perfectly competitive market is affected
when

(i) supply decreases with demand remaining unchanged and
(i) demand decreases with supply remaining unchanged.

Briefly discuss the Modern theory of Rent.
OR

Critically evaluate Marginal Productivity theory of Distribution
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Discuss the income-census method of measuring national income.
OR
Explain the difference between gross natiorial income at market

price and gross national income at factor cost.
Discuss briefly the functions of a central bank,

Show the difference between Current account and Capital account

in the balance of payments.

OR

Discuss the different components on the credit side and the debit

side of balance of payment accounts.
Show that the standard deviation of a set of five observations :
5,6,7,8,9is V2.

OR

Discuss the advantages of standard deviation as a measure of

dispersion.

What are the causes of persistence of poverty in India ?
OR

State the measures adopted to reduce the inequality of income in
India.
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